ASSEMBLY INSTRUCTIONS
M 00263433 MODEL : MONACO DINING TABLE

Bolt M8 X 30
GL1
X8
Ring Small
(LA .@
X 2 X8

Line up labelled sticker on

brackel with corresponding labelled || Line up labelled
stickers on base sticker on bracket

with corresponding
labelled sticker on
base

e Insert bolts from
underneath but do
not tighten until all
bolts are inserted
as you need some
movement in the

Bolt M8 X 30 + Ring Small

1l

Bolt M8 X 30 + Ring small : 8 Pcs




ASSEMBLY INSTRUCTIONS
M 00263432 MODEL : MONACO DINING TABLE

Bolt M8 X 30
GL1
X8
Ring Small
(LA .@
X 2 X8

Line up labelled sticker on

brackel with corresponding labelled |{®  Line up labelled
stickers on base sticker on bracket

with corresponding
labelled sticker on
base

Insert bolts from
underneath but do
not tighten until all
bolts are inserted
as you need some
movement in the

Bolt M8 X 30 + Ring Small

1l

Bolt M8 X 30 + Ring small : 8 Pcs




MO0263434

ASSEMBLY INSTRUCTIONS

MODEL : MONACO DINING TABLE ROUND

X1

——

Bolt M8 X 30
X 6 W

Ring Small
xe (O

Screw M4 x 50 \\\\\\\W\
$
Y
X6 W
M

X1 ~—

Screw M4 x 15

X 24 @iﬁﬁg

|
|
|
|
{Bolt M8 X 30+ Ring Small

Line up labelled
sticker on bracket
with corresponding
labelled sticker on
base

Insert bolts from
underneath but do
not tighten until all
bolts are inserted
as you need some
movement in the

Bolt M8 X 30 + Ring small : 6 Pcs

Screw M4 X 50 : 6 Pcs

Screw M4 X 15 : 24 Pcs




ASSEMBLY INSTRUCTIONS
MODEL : QUEEN BED
0Z-2024-016

Bolt + Ring Small

HW T H\ Mount the legs on footboard

—

‘ I | \\g\\\ \\ \\ \\

\HH
‘\‘\ ‘ \ \ ‘ Bolt + Ring Small
i

it
‘HH
L ““_‘ | STEP 3

Ll
Mount the legs on headboard side,only tighten
with screwdriver after complete assembly

Bolt + Ring Small : 16 Pcs Bolt L : 32 Pcs




ASSEMBLY INSTRUCTIONS
MODEL : QUEEN BED
0Z-2024-016

Mount the middle big slat with the
ovetail construction first

o

- “‘ | H\ ‘H H‘
P I ‘ ‘

Z \

w

|
’1 /

Bolt + Ring Small : 16 Pcs Bolt L : 32 Pcs




ASSEMBLY INSTRUCTIONS
MODEL : QUEEN BED
0Z-2024-016

then mount the middle small slat with the
dovetail construction in the center of the
bed

then mount the regular slat until cover it all

small dovetail slat







	MN 30 OZ
	MN 31 OZ
	MN 40 OZ

